SAMPLE QUESTION PAPER FOR PRACTICE ONLY
HIGHER SECONDARY EXAM 2025
SUBJECT- CHEMISTRY
(Hindi & English Version)

Total Questions | Total Printed | Time (Hours) Maximum
Pages Marks
20 11 03:00 Hrs. 70

forder :

() o ue e srfart R
(i) U HHF 1 W 5 Tb G T & D et 3w 28 T |
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(v) ¥ HHIPb 17 W 20 db, YAD U9 4 b BT 2 | (Ieq JHAT 120 IT<S)
(vi) U PHHIG 6 W 20 TH YD ¥ IaR® fdwey &y T 2|

Instruction

(1) All Questions are compulsory.
(i1))  Question Nos 1 to 5 are objective type question each carries 1 mark total 28 Marks.

(111)  Question Nos 6 to 12 each question carries 2 marks. (word limit 30 words)

(iv)  Question Nos 13 to 16, each question carries 3 marks. (word limit 75 words)
(v)  Question Nos 17 to 20, each question carries 4 marks. (word limit 120 words)

(vi) Internal choice is given in every question from question Nos. 6 to 20.

1. 8 Ree gaex faRay —
() TRsFHHmgEFE -
(a) P=Ku/k
(c) P=Ku-x
(i) "R A BT IGANT 71 7 9 e gfaa § ugad gram 2 —

(@) U A

(c) i 9

iii) AT dod DI AR UeRid ord g, Hifd S8 8ld & —
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(1) o qRd ®ers
(c) 3E URT HedH

(b) x-Ku/p
(d Ku=P-x

(b) waTd =l
(d) e =

(b) AT T Faa BT

(d) Raa wes

1x6=6 3®



(iv) S 9Ig A /IR | e foriivs (e ) &1 6@ dEand & —

(a)  SiTRATHRUT &= (b) HHIGYT HUSA
(c) 3= F&=T (d) SUFSHIIST G
(v) "afAe UHE @7 6 —
(a) FHRIJEHADIY (b) ICHADY
(c) Py (d FEE
(vi) AR S &I ITILHT UHT HT HROT & —
(a) AT g B SuRIfT (b) &RIT FHg &I IuRkerfd
(c) T &R Fqal &1 IUReIfT (d) U i g U &RIA AHE
a1 IuRerfa

Choose and write the correct option —

(1) Formula of Henry's Law is.

(a) P=Ku/k (b)) x-Ku/p
(c) P=Ku-x (d Ku=P-x
(1))  In which of the following device mercury cell is used -
(a)  Auditory device (b)  Wall clock
(c) Callbell (d)  Alarm clock
(iii)  Transition elements show paramagnetic behavior because the possess -
(a)  Full filled orbital (b)  Paired electron orbital
(c)  Half filled orbital (d)  Vacant Orbital
(iv)  Number of Ligands attached with central metal ion/atom is called -
(a)  Oxidation Number (b)  Co-ordination sphere
(c)  Reduction Number (d)  Co-ordination number

(v)  Structure of Primary amine is -

(a)  Tetrahedral (b)  Octahedral
(c)  Trigonal (d)  Pyramidal
(vi)  Amphoteric nature of Zwitter ion is due to -
(a)  Presence of acidic group (b)  Presence of basic group
(c)  Presence of two basic group (d)  Presence of one acidic & one

basic group



Reaa = wRY — 1x6=6 3

(i) ST arex § ol Uma=ell ... =

(i) TS W o rfafrar Bl 7 |

(iii) fIerf®= B-12# ... DI 9T URATY € |

(iv) <Id SYOT GIET Lo S 2 |

(v) wrafe A, TG T @ Qe H e SIND

(vi) T w1 # ypridd T -CHO &1 T I oo I & |

Fill in the blanks -

(1)  Solute phase in soda water is .....................

(A1) e reaction occurs at Anode.

(i11))  Central metal atom in vitamin B-12 is .........c..........

(V) e, shows silver mirror test.

(v)  Primary amines are ................. basic than secondary amine.

(vi) If a sugar contains functional group -CHO then sugar is .......................

I / 3y forlRag — 1x6=6 3i®H
() oo <1 a1 <1 9 Mf® sragal w1 G RS BT ©

(i) IR &7 FpH ATidha HE ¢ |

(iii) CoHsOH AFIREf$® Vbl e § |

(v) WIfST® d9ive BT SUANT wWrel ufRRemr § T § |

(v) HTecH UwIIgH ATl @ Tefdblol H Seleudes &l IMRT T8l xal T |
(vi) BEINT 9T & ORI A IRR H garRd Biex Surgel fhamsil &1 frme aRa 2 |
Write True / False.

(1)  Solution is the homogeneous mixture of two or more than two components.
(1)  Reciprocal of resistance is conductance.

(i11)) C2HsOH is not a monohydric alcohol.

(iv)  Sodium benzoate is used as a food preservative.

(v)  Maltase enzyme does not catalyze the hydrolysis of maltose to glucose.

(vi) Hormones regulate the metabolic process in body through the flow of blood.
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HE TrST T8Y — 1x5=5 3i®

() e Ja (a) WRiA

(i)  <Afaer o (b) TSI
(i) dfell BaVed (c)  Soll 3FaRIE
(iv) dEafed 3T (d b

(v) QoS (€)  STIpHYI

Match the column

(1) Primary Cell (a)  Freon

(1) Activation energy (b)  Esterification

(ii1))  Polyhaloalkane (c)  Energy barrier

(iv)  Carboxylic acid (d) Dyes

(v) Azo benzene (e)  Irreversible

TH I /9199 A Sar faRkay — 1x5=5 3i®

()  DsAIH H AT gelagHl o H@r falay |

(i) Cr’*3mad &1 7 fafay |

(ili) Hchia DI AT fafRay |

(v) fEfo® Yeplela & MARIHBRT | U B dTel IcTg BT A foIRay |
(v)  TEIDIST DI FHE ST ¥ fhAr 89 WR U1 A b1 A oy |

Write answer in one word / sentences

(1) Write the number of unpaired electrons present in cadmium.
(i)  Write the colour of Cr**ion.
(i11)  Write the structure of Catechol.
(iv)  Write the name of product obtained from oxidation of secondary alcohol.
(V) Write the name of compound obtained by the reaction of Bromine water with
glucose.
faf¥rse areraar @1 UMY Td gdTs foaRay | 2 3@
Write the definition and unit of specific conductivity.
SACT or
It Rerie 3 aRvTeT Td 3o forfag |
Write the definition and unit of cell constant.
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10.

IS JAMHAT & 9T &I gR¥TT &R forlRay | 2 3b
Define the rate of a chemical reaction
3ACT or
rffshar @ amfaear & aR9INT ax faRay |
Define the molecularity of a reaction.

dATgS B | SYANT foTfRau | 2 3@

Write two uses of Lanthanides

3RIdT or
KMnO; & &1 TR forlay |
Write two uses of KMnOy
SUTEHATSTT G BT URYMNT T U SST8N] folfRgu | 2 3[®

Write the definition and one example of co-ordination number.
3ICT or
T GTg URATY] BT GRATYT 9 T ITeRYT forfay |
Write the definition and one example of central metal atom.
FrforRed Iudgwdc AMfel & g3 oy | 2 3
()  drcRrm corEgifdas Nae (1)
(i) <gNHH TdaadiRe! dratee (I1I) FARISS

Write the formula of following co-ordination Compounds.

(i)  Potassium tetrahydroxido zincate (II)
(ii)  Tetrammine aquachlorido cobalt (III) Chloride
AT or
feforaa Suwedare AIffie! & TUPAC M foriy |
() [Pt (NHs) Cl (NO)]
(i)  [Co(Cl) (en):]
Write the [IUPAC name of following co-ordination compounds.
(1) [Pt (NH3)2 C1 (NO2)]
()  [Co(CD): (en)s]



11.

12.

13.

14.

qrsfferd gags a VR gags d Udh iR foRau |

Write one difference between Vinylic halide and aryl halide.
3ACT or

ON O\

UfeTfores 2ctss d Jf~oifold acliss H Udh IR foIfay |

Write one difference between Allylic halide and Benzylic halide.
F9e1 B IR # RefF- C <R T 8, ®i 2
Vitamin — C is not stored in human body, Why ?

3dT or

799 & IRR # fJerfim-D <fea & rar &, @t ?
Vitamin — D is stored in human body, Why ?
39 AR &1 Pife B T BT, RNiFdT 97 oTd & —

() a7 =K[A]"*[B]*
(i) T =K[A]**[B]

Calculate the order of reaction which has rate expression —

(i)  Rate=K[A]"2[B]*?

(i) Rate=K[A]¥*[B]!
3AAT or

fFrferRad o ReRiel ¥ srAfhar dife &1 ygard IR |

() K=23x10°Lmol!S"!

i) K=3x10* !

Identify order of reaction by following rate constant —

(i) K =2.3x10° L mol! S*!

i) K=3x10*S!

d <t & d@ gRadi ifefiaor der 9ef¥g oxd & @i ? 3w foalay |

d- block elements exhibit variable oxidation state, why ? Write with example.
SACT or

d =i & I DI 0T JeRid & &, I ? Iarevvl [y |

d- block elements exhibit magnetic properties why ? Write with example.
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15.

16.

17.

SHIKCH & IR FHFIdl § SN g SN2 iffshar &1 srfchareiicrar &1 ®H srHTa
R forfgy | 3 3

Assume the order of reactivity of SN! and SN? Reaction for four isomers of Bromobutane.

3RdT or
faferRad wrdfae difrel @ dvamr faRay |
(i) 2 — FARI — 3 — HAfyeTU=A
(ii) 1, 4 — SSIMIKE — 2 — g
(iii) 1 — FARI — 4 — Y dalgd™i—

Write the structure of following organic compounds -

(1v) 2 — Chloro -3 — Methyl pentane

(v) 1,4 — dibromobut — 2 ene

(vi) 1 — Chloro — 4 — Ethyl cyclohexane

fr=faRaa aRada &9 4T ? fofRag | 3 3

() I & A
(i) domHISS 9 UHRiE
How will you convert ?
(1) Benzene to Aniline
(i)  Benzamide to Aniline
3AAT or
fFrferRad aRads &9 e ? forRag |
(i) oclmrgs A N- Ufedpd deimrgs
(il) 9T FARTSS | N, N- SBARABE H-HIA
How will you convert ?

(1) phthalimide to - N — alkyl phthalimide

(i1))  Benzyl chloride to N, N dimethylphenyl methenamine.
() TP H SHIT B IRWINT ST 9 3BT Alctardl | Hde RAfid ST |
43P
(iii) U ARAUA U H 36g 7@l DI 1 kg STl H °lell 7 1.013 IR @ R I8
STeT fh A9 OR Sl ? 5Tl @ ford Ky =0.52 K kg mol! B |




18.

(1)
(i)

(1)

(i)

(1)

(i)

(1)

(i)

(1)

(i)

Define the elevation in boiling point and establish a relation of it with molality.
36g of glucose, CcHi20g¢, 1s dissolved in 1 kg of water is a saucepan, At what
temperature will water boil at 1.013 bar ? Ky for water is 0.52 K kg mol™'.

SIIdT or

HIN S A0 R AeMER B didd @ield R oldel S 8Id &, a2
TP WIEH B 200 cm?® STefid faee # 1.26g WIEF &7 300 K IR 89 fdeia &1
TRRRYT G 2.57 x 10 2 IR 91T 11 WS & AlelR SIAE &1 GR&Bed DI |

Fizz / Bubbles are produced on opening of a bottle of soda water at room
temperature, Why ?

200 cm?® of an aqueous solution of a protein contains 1.26g of the protein. The
osmotic pressure of such a solution at 300 K is found to be 2.57 x 1073 bar. Calculate
the molar mass of protein.

Ife U e1fcdd arR # 0.5 VIR @) 9R7 2 "uel & forg garfed gkl @ dF AR §
I fhds soide™ varRd 8 | 4 3i®
fFeferRad srffshar % Cr,07% 3T & Usb Al & U= & ol deid o fagd
@1 faraei AT B STTaIdhdr BN —

Cr,07% + 14H' + 66 —> 2¢r** + THL0

If a current of 0.5 ampere flows through a metallic wire for 2 hours, than how
many electrons would flow through the wire ?
Considers the reaction Cr,07% + 14H" + 6e- —» 2cr’* + 7H,0. What is the
quantity of electricity in coulombs needed to reduced 1 mol of Cr,O7*

3IdT or
0.025 mol L' A2gHIg® 3%l &1 Atethdl 46.1 S cm? mol™! 2 | s&! faare= 9=

g faurs Rerie &1 9Reed ooy | fear ar 7 f6 A[H'] = 349.6 S ¢cm? mol”!

vd A[HCOO] =54.6 S cm? mol"!

The conductivity of 0.025 mol L-! Methanolic acid in 46.1 S cm? mol!. Find

out the Rate of dissociation and dissociation constant.



19.  BFIA I Hfa UeRid axar g wi fafag |

Phenol shows acidic nature, why ?
AT
frforRad IImIe Tttt &I qul ST |
(1) N=N-CI
H,O

I, 4

A CUX2

(ii) SO;H
(i) NaOHA
(i) H

(iii) Cl

+NaOH 623K

—

300 atm

(iv) RCOOH LiA IH,
—
H,0

Complete the following chemical reactions.
f=feRaa I SAfAfsharstl &1 qoi HIfsH |
(1) N=N-Cl

H,O
—>
ACUXZ
(ii) SO;H

(i) NaOHA
(i) H

4 3D



(iii) Cl

+ NaOH 623K

—

300 atm

(iv)y RCOOH LiA IH,
—
H,0

20. T BT § Oid
() 2HCHO +NaOH  —»
(i) COOH g HNO;

»

ag HNO;

(i) COOH Br,/Fe

—

(iv) R-COONa NaOH + CaO
A >

What happens when —
(1) 2HCHO + NaOH —
(i1) COOH w1 HNO;
g HNOs g

(i) COOH Br,/Fe

—

(iv) R-COONa NaOH + CaO
A >

10
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AT

gD g A DI AT AR Ude BT |
(i) CH;CO.H or CH,FCO,H

(i) CH,FCO,H or CH,CIO,H
(iii) CH,FCH,CH,CO,H or CH;CHFCH,CO,H.

(iv) FsC or H;C

COOH COOH

Which of the acid is stronger in each pair.

(1) CH3;CO;zH or CH,FCOH

(1) CH,FCOH or CH,CIO;H

(i11) CH,FCH,CH,CO;H or CH;CHFCH,CO;H.

(iav) FsC or H;C

COOH COOH
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